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27 21,651,248 19,537,439 2,113,809
= 2,450,755 1,137,248 1,313,507
z 9,954,000 9,954,000 0
= 10,829 10,829 0
= 9,235,664 8,435,362 800,302
OFNE FHDIE BB (MY - BAIY/ MY 18,596,912 16,430, 564 2,166,348
= 2,137,148 828,800 1,308,348
7 9,954,000 9,954,000 0
= 6,505,764 5,647,764 858,000
THeHAIZ 20 et 15,450,490 13,620,690 1,829,800
= 1,564,800 215,000 1,349,800
z 9,954,000 9,954,000 0
= 3,931,690 3,451,690 480,000
THeHAI R ZEE A (2 D) 313,550 263,750 49,800
= 264,800 215,000 49,800
= 48,750 48,750 0
403 TXIESHSKHZO0IH 143,550 93,750 49,800
= 124,800 75,000 49,800
= 18,750 18,750 0
01 MXESHA=EE 143,550 93,750 49,800
ORENL BSAEY 143,550 93,750 49,800
= 124,800 75,000 49,800
< 18,750 18,750 0
SHEANE sS4 NA(2D) 1,780,000 0 1,780,000
= 1,300,000 0 1,300,000
= 480,000 0 480,000
308 RXISHHSOIH 450,000 0 450,000
= 300,000 0 300,000
= 150,000 0 150,000
01 MXSHHINEED 450,000 0 450,000
023 NE 84 450,000 0 450,000
= 300,000 0 300,000
< 150,000 0 150,000
403 XXISHSIH=0lH 1,330,000 0 1,330,000
= 1,000,000 0 1,000,000
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= 2,138,700 1,760,700 378,000

AMDBO BN U HANFEXZ OIHEH =T 1,918,000 1,500,000 418,000
307 2I2+01H 1,918,000 1,500,000 418,000
02 QIHAAEE 1,918,000 1,500,000 418,000
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R 1,918,000 1,500,000 418,000
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= 48,000 48,000 0
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ATt DERENSHNA(2D) 348,433 343,274 5,159
= 313,607 308,448 5,159
= 34,826 34,826 0
308 X XIEHSOIH 348,433 343,274 5,159
= 313,607 308,448 5,159
[ 34,826 34,826 0
01 MXSHHBABES 348,433 343,274 5,159
ODNE =XEBUAY N 348,433 343,274 5,159
Os0{RIMex Meisp 35,000 29,841 5,159
= 35,000 29,841 5,159
NS AAH (FME M) (JIEHIIEH) 384,083 442,033 58,000
ol 2y 359,027 417,027 58,000
TR 012 X 359,027 417,027 58,000
204 XA 293,120 351,120 58,000
02 HZEXH| 199,520 257,520 58,000
042 25,400 38,400 13,000
052 62,000 78,000 ~16,000
062 43,940 53,940 10,000
o072 44,400 50,400 6,000
0892 13,380 16,380 A3,000
oNg2Rsy 4,400 14,400 £10,000
NEHS(FHMEHD) (ASIZX/=S) 302 0 302
2EXE 302 0 302
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802 EHE2IIE} 302 0 302
01 2DEX2aa 302 0 302
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